TC-65

- 12—

CHASSIS

FINAL DRIVE — STEERING CLUTCH RELEASE SHAFT AND MECHANISM

-1
= -
// -
e=--3 o © Y1
&4 ==

Steering clutch lubrication

tubes and connections

and 18 friction discs (Ref. No. 27)

This assembly is made up of 17 driving discs (Ref. No. 28)

PART NO.

REF. NO. NUMBER DESCRIPTION SERIAL NUMBER REQ'D
| 272 322 R! RETAINER, FELT, STEERING CLUTCH RELEASE FORK UPPER BEARING 2
2 56 010 D SPACER, STEERING CLUTCH RELEASE LEVER 2
3 56 008 D FELT, STEERING CLUTCH RELEASE FORK UPPER BEARING 2
4 8 80 DX RETAINER, STEERING CLUTCH RELEASE FORK UPPER BEARING, w/PLUG, 103 883 2
103 322 WASHER, Lock, 7/16" i
179 862 SCREW, cAP, HEX-HD., [/16-1INC x (-1/2" 4
5 56 009 D GASKET, STEERING CLUTCH RELEASE FORK UPPER BEARING RETAINER 2
6 56 009 D GASKET, STEERING CLUTCH RELEASE FORK UPPER BEARING CAGE 2
1 ST 205 A BEARING, BALL, UPPER, STEERING CLUTCH FORK 2

. PRINTED IN UNITED STATES OF AMERICA



TC-65

— 13—

CHASSIS

N

PART NO.
REF. NO, NUMBER | DESCRIPTION SERIAL NUMBER REQ'D
FINAL DRIVE — STEERING CLUTCH RELEASE SHAFT AND MECHANISM — Continued
8 264 6911 RO OJL SEAL, STEERING CLUTCH RELEASE FORK UPPCR BEARING (0PTIONAL
wiTH 273 581 R91 ano 27€ 204 R9I) ’
8 273 581 R9| OlL SFAL, STEERING CLUTCH RELEASE FORK UPPER BEARING {0PTIONAL
wiTh 260 694 R91 anp 276 ZOW ROI)
8 276 20} ROt OIL SEAL, STEERING CLUTCH RELEASE FORK UPPER BEARING (0PTIONAL
wiTH 273 581 RO ano 264 A9k R91) 2
9 8 682 bx CAGE, STEERING CLUTCH RELEASE FORK UPBER BEARING. +/OIL SEAL. 24 £94 R
10 57 099 © FORK, STEERING CLUTCH RELEASE
(B ST 5|6 BEARING, BALL., LOWER, STEERING CLUTCH RELEASE FORK I
12 56 005 D LINK., STEERING CLUTCH RELEASE COLLAR SHIFTER 4
13 56 007 D PIN, STEERING CLUTCH RELEASE COLLAR SHIFTER L INK 4
103 386 PIN, cotTer, 1/8 x 1-1/h" 3
1h 251 625 R21 COUPLING, STEERING CLUTCH SHAFT, |2 TEETH. w/PLUG. 172 (4 ‘
15 Lo 880 b OIL SEAL, STEERING CLUTCH SHAFT COUPLING (OPTioNAL wiTH 204 €95 R91) z
15 26k 695 R9Iﬁ COIL SEAL, STEERING CLUTCH SHAFT COUPLING (cpTional wita 40 8839 D) 2
16 271 811 Rl RETAINER, STEERING CLUTCH SHAFT COUPLING 4
Iy .2l 808 R GASKET, DRIVE BEVEL GEAR BEARING CAGE CAP 2
18 271 809 RiI CAP, DRIVE BEVEL GEAR BEARING CAGE, L.H., w/OIL SEAL, 40 880 D anc PIN, 272 57 RI I
179 881 SCREW, cAp, HEX-HD.. I/2-13NC x 1" 3
1 €od WASHER, tock, 1/2" 3
18 271 810 R CAP, DRIVE BEVEL GEAR BEARING CAGE, L.H., w. OIL SEAL, 40 880 D anp PIN, 273 562 R/ !
179 881 SCREW, caP, HEX-HO., |/2-I3NC x 1" )
1k 508 WASHER, Lock |/2" 5
19 5¢ 206 D PIN, STEERING CLUTCH RELEASE COLLAR KEY o
20 54013 DX KEY, STEERING CLUTCH RELEASE COLLAR, wW/PIN. 5 00A D B
21 55 018 D COLLAR, STEERING CLUTCH RELEASE 2
22 260 618 R1 BOLT, STEERING CLUTCH SHAFT COUPLING RETAINER |2
23 57 103 DX TUBE, GREASE, LOWER, STEERING CLUTCH RELEASE BEARING 2
13 239 R BOLT, machine, !/U-20NC x 5/8" 4
115 547 WASHER, Lock, INTERNAL-TOOTH, |/47 b
11y 501 NUT, Jam, keEx., |/H-20NC Y
24 53 233 DA BEARING, THRUST, STEERING CLUTCH RELEASE (AETNA) 2
25 251 624 R SHAFT, STEERING CLUTCH E
26 5 715D PLATE, STEERING CLUTCH HUB 2
103 323 WASHER, Lock, 1/2" |2
179 883 SCREW, caP, Hex-mD., I/2-13NC x I-1/4" 12
27 4o 883 DC DISC, FRICTION, 58 TEETH, STEERING cLuTCH (RAYBESTOS) 36
27 58 957 D DISC, FRICTION, 58 TEETH, STEERING cLUTCH (Bi~Metatiic) {speciar) (useop with 61 903 D) Lo
28 s Lo 882 b DISC, DRIViING, [ TEETH, STEERING cLuTcH (sTeer) (38 usep with 61 903 D) 3%
7
29 5 712 DB RETAINER, STEERING CLUTCH PRESSURE SPRING 2
30 68 he2 SPRING, PRESSURE, STEERING GLUTCH 2
31 9 717 D HUB, STEERING CLUTCH 2

PRINTED IN UNITED STATES OF AMERICA



1C€-65

— I —

%%

CHASSIS

PAR NoO.
REF. NO. NU?/IB-II:_‘R DESCRIPTION SERIAL NUMBER REQ'D
FINAL'DRIVE — STEERING CLUTCH RELEASE SHAFT AND MECHANISM — Continued
52 5 711 DC PLATE, PRESSURE, STEERING CLUTCH 2
EE 54 908 b BOLT, DOWEL, STEERING CLUTCH PRESSURE PLATE 6
10y 423 WASHER, tock, 1/2" 6
3k 5% 742 DA SPACER, STEERING CLUTCH PILOT BEARING 2
35 5 7lll DE DRUM, STEERING CLUTCH 2
271 581 SCREW, cAP, HEx-tD., 5/8-18NF x 1-1/0" 16
26 ST 333 BEARING, STEERING CLUTCH PILOT Z
57 256 790 R! NUT, STEERING CLUTCH PILOT BEARING RETAINER 2
38 57 102 D CAP, STEERING CLUTCH RELEASE FORK LOWER BEARING 2
103 3720 WASHER, tock, 5/16" g
113 916 BOLT, stoTTeED, Fi-Ho., 5/16-18NC x I-1/4" 4
102 630 NUT, wex., 5/1C-18NC }
39 35 252 D CONNECTOR, STEERING CLUTCH RELEASE FORK LOWER BEARING GREASE TUBE 2
4o 35 252 DX CONNECTOR, STEERING CLUTCH RELEASE FORK LOWER BEARING GREASE TUSE,
35 252 D, w/NUT, 29 899 D 2
i 29 899 D NUT, STEERING CLUTCH RELEASE FORK LOWER BEARING GREASE TUBE CONNECTOR 2
42 272 323 R9I TUBE, GREASE, LOWER, STEERING CLUTCH RELEASE FORK LOWER BEARING, L.H., w/NUT, 29 899 p
13 239 RI SCREW, MACHINE, sa-Hp., |I/U-2ONC x 5/8" 2
Y 501 NUT, uam, weEx., |/U-20NC 2
15 shy WASHER, Lock, INTERNAL-TOOTH, /U7 2
L2 272 324 R9I TUBE, GREASE, LOWER, STEERING CLUTCH RELEASE FORK LOWER BEARING, R.H., w/NUT, 29 899 D !
13 239 RI SCREW, MACHINE, sq-HD., |/H-20NC x 5/8" 2
1y 501 NUT, sam., weEx,, |/U-20NC 2
115 547 WASHER, Lock, INTERNAL-ToOTH, |/4" 2
43 54 652 D PIPE, STEERING CLUTCH PILOT BEARING LUBRICATOR 2
by 10G 368 FITTING, LUBRICATION, STEERING CLUTCH PILOT BEARING (OPTIONAL WiTH Q 3 618) 2
bl Q 3 618 FITTING, LUBRICATION, STEERING CLUTCH PILOT BEARING (OPTIONAL WiTH 109 368) 2
45 ho 891 oD, CLUTCH, STEERING, ASSEMBLY 2
(ComposED oF -
3 BOLT 54 968 D I PLATE 5 715 D
i7  DISC Lo 882 b I RETAINER 5 712 DB
18  FACING 4o 883 bC 6 SCREW 179 883
I HuB 9 717D I SPRING 68 462 b
| PLATE 5 711 DC, 9 WASHER, 103 323 )
L5 59 009 DB CLUTCH, sTeerine assemaLy (Bi-Metavrvic) {speciac) (usep with 61 093 D) 2
(ComposED of -
3 BOLT sh 968 b i PLATE 5 715D
19 DISC 4o 882 o I RETAINER 5 712 DB
20 DISC 58/957 D 6 SCREW 179 883
i HUB 9 717D | SPRING 66 462 b
I PLATE 5 711 bC 9 WASHER 103 323)
L6 29 901 DX CONNECTOR, STEERING CLUTCH LUBRICATION TUBE, W/NUT, 29 898 D (UseEp IN BEARING RETAINER) 2
l.l7 30 Loz px FLBOW, STEERING CLUTCH LuBRICATiON Tyse, w/NUT, 29 898 p b

PRINTED IN UNITED STATES OF AMERICA



— 115 —

1C-65

CHASSIS

PART RIPTION SERIAL NUMBER NO.
REF. NO. NUMBER DESC REQ'D
FINAL DRIVE — STEERING CLUTCH RELEASE SHAFT AND MECHANISM — Continved
275 TN TUBE, GREASE, UPPER, STEERING CLUTCH <ELEASE FORK LOWER BEARING, R,H.,
w/Twe NUTS, 29 898 D !
P
Lo 275 137 211 TUBE, GREASE, STEERING CLUTCH RELEASE FOnx “PPER BEARING, S,H., w/Two NUTS, 29 598 |
T 275 136 =110 TUBE, EA%E, UFPER, STEERING CLUTCH RELEASE BE&<iING, S,H., W/THO MNUTS, 29 898 D
5 275 132 RI CLIP, STEERING CLUTCH LUBRIC&TION TUBE (Fox ¥, H, TvBES)
‘ b 109 462 FITTING, Lusrication (Lincoln SH00) (USED WiTH STEEWING CLUTCH GREASE TUBE
| -
| JUNCTION BLOCK) (OPTioNAL wiTH (09 35%) 6
52 109 354 FITTING, tusrication (ALEMITE 1613) (USED WiTH STEERING CLUTCH GREASE TUBE
JuncTion BLoCK) {oPTionaL wiTh 109 462) 6
53 275 b BLOCK, JUNCTION, STEERING CLUTCH GREASE TUBE |
R SCREW, CaP, HEx-HD., |/4-2ONC x |-1/&" 2
103 319 WASHER, LoCK, MEDIuM, |/H" 2
ok 29 901 DX CONNECTOR, STEERING CLOTCH LUBKICATION TuBE, w/NUT, 29 98 D (USED 1N JUNCTION BLOCK) 6
S5 275 133 R TUBE, “REASE, STEERING CLUTCH RELEASE FORK UPPER BEAKING, L.H,, w/Two NUTS, 29 898 D
56 275 134 RIY TUBE, GREASE, UPPER, STEERING CLUTCH RELEASE BEARING, L.H., w/7wo NUTS, 29 898 D
ST 275 135 R TUBE, GREASE, UPPER, STEERING CLUTCH RELEASE FORK LOWER BEARING, L.H.,
w/Two NUTS, 29 898 p I
; |h5 Ol7 H ADAPTER, STEERING CLUTCH RELEASE BEARING GREASE TUBE Etsow (Lincoin 20029)
| S
(oPTioNAL wiTH 191 759) 2
1921 759 ADAPTER, STEERING CLUTCH RELEASE BEARING GREASE TUBE £Lpow (ALEMITE 4L701)
(opTionat with 145 017 H) 2
61 903 D ATTACHMENT, STEERING CLUTCH FRICTION DISC {Bi-MeETALLIC SPECTAL Cons1sTs oOF
2
Four DISCS, 40 882 D ano ForTY DISCS, 58 957 D) (see NOTE)
105 hok NIPPLE, CLOSE, STEER!NG CLUTCH RELEASE COLLAR 2.
29 899 D NUT, STEERING CLUTCH RELEASE FORK LOWER BEARING LOWER TUBE 4
29 898 D NUT, STEERING CLUTCH LUBRICATENG TUBE CONNECTOR 8
29 898 b NUT, STEERING CLUTCH LUBRICATION TUBE ELBOW h
29 898 D NUT, STEERING CLUTCH RELEASE FORK UPPER BEARING GREASE TUBE, L.H. 2
29 898 D NUT, STEERING CLUTCH RELEASE BEARING GREASE TUBE, UPPER, L,H. 2
29 898 D NUT, STEERING CLUTCH RELEASE FORK LOWER BEARING GREASE TUBE, UPPER, L.H, 2
29 898 D NUT, STEERING CLUTCH RELEASE BEARING GREASE TUBE, UPPER, R.H. 2
29 898 D NUT, STEERING CLUTCH RELEASE FORK UPPER BEARING GREASE TUBE, R.H, 2
29 898 D NUT, STEER!ING CLUTCH RELEASE FORK LOWER BEARING GREASE TUBE, UPPER, R.H. 2 .
273 562 R PIN, LOCK, BEVEL GEAR BEARING ADJUSTER 2
172 60k PLUG, ExPANSLON, 3"
103 883 PLUG, PiPE, |/8”, STEERING CLUTCH RELEASE FORK UPPER BEARING RETAINER 2
260 6!9 R WIRE, LOCKING, STEERING CLUTCH SHAFT COUPLING RETAINER BOLT 6.
NOTE - FACTORY APPLICATION - ORDER ON MaCHINE ORDER FoOrRM
FIELD APPLICATION - ORDER THROUGH REGULAR SERVICE PARTS CHANNELS

PRINTED IN UNITED STATES OF AMERICA



